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V = 95 kw/u — > V = 125 ren/u
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S=?Km

(95 + 125) * 2 = 440 (km)

Omeem: 440 km paccmosinue mMexcoy 20po0amu



| I(pumepuu ouénueauuﬂ
Bce BEpHO — «5» ,
JlonymeHna onm61<a B qepTexce — «4»
HepTex BBIMOIHEH NPABUIIBHO,
pemeHne HEBEPHO — «3%»

IIepTe>1< BBIIIOJIHEH HEBEPHO,
pemeHue HeBepHo -2




~ Pemmre ypaBHeHH
1 Bapuaar
_610 + C 215 *3
il i 7 BapnaHT |

693 X = 135 *5




CaMonpOBepKa

610 +C 215 *3 | '693 X 135 *5

610+C=645 = 693-X=675
C=645-610 | X=693-675 @
C=35 o X=18

610 +35=215*3 693 -18=135*5
645 =645 675=675
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| Bblqucﬂnfe:

307*2=614xm
26000 : 1000= 26 m
50 * 700 = 35000 ter
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